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mf & EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | S1EM) FE(E) ZEM) =1ErFE) FE(E) ZEM)
130100 [FFLN\C A a3 39,395
FIE 1,050 0 1,050 10 702
£EE 1,210 25 1,185 5 1,620 2,592 972
EE 7,000 2,400 4,600 10 1,080 432 1,080 324
RI% 21,280 8,400 12,880 12 1,080 540 1,080 216
130340 [FIZALA g 11,860
Ri& 9,620 5,000 4620 10 1. 026 1,674 389
130400 [Z %5 g 1,268
dtiEE 60 0 60 10 1,080
It 1,020 20 1,000 10 4,536 1,447
130600 |[NWACA a3 1,210
i L 180 0 180 5 3,672 864
me 1,010 0 1,010 5 - - - 5,400 1,404
131100 | g 69,015
FIk 23,520 4,815 18,705 15 918 648 1,080 648
25 4,200 2,430 1,770 15 1,296 864 1,296 1,080
EE 22,344 16,949 5,395 13 929 648 972 648
B 6,801 3,600 3,201 12 972 864
RI% 11,700 2,250 9,450 15 810 1,361 648
BR 450 75 375 15 972 864
131700 | F ¥ RY 3 31,994
R 3,450 0 3,450 10 972 648
50 15,060 2,900 12,160 10 1,134 702 1,188 432
EE 11,984 4,746 7,238 12 972 324 1,080 216
BRE 1,500 0 1,500 10 972
131800 [IE5NAE g 2,886
£EE 288 168 120 02 324 151 205 108
EE 1,002 40 962 4 3,240 2,808 1,944
12 1,058 45 1,013 0.18 151 151 113
131910 | & g 3,062
N 26 0 26 05 702 302
EE 104 26 78] 0.5 302 302 270
i L 465 0 465 1 1,296 432
&Il 1,399 0 1,399 10 3,132 2,430
iR 990 0 990 10 3,132 2,808
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mn &n i EIFEE = (ke) R b tExIER 5|
AH Y5 HExt Hfike | 2EE) | pEEA) [ REA) [ SEE) | $EFE) | REFA)
=0 28 0 28] 0.1 54
131950 [A & g 9,164
£EE 834 159 675 3 1,890 1,080 1,944 702
BE 2,350 664 1,686 3 Z 160 1,080 2,160 864
thE 225 0 225 3 972 756
133400 [L 2R g 20,254
EE 10,744 4,974 5,770 10 Z.916 156 2,970 756
EE 2,010 300 1,710 10 3,024 2,592 3,024 1,620
RiF 6,190 5,540 650 10 1,404 886 1,836 1,080
REAR 200 0 200 10 1,231 486
134100 |81 3 10,950
EE 1,730 220 1,510 5 2,160 1,674 2,484 1,188
E| 120 0 120 5 1,512 540
IR 375 25 350 5 1,728 2,322 540
=% 800 800 0 5 2,376 1,944
= % 7,925 2,825 5,100 5 Z 376 1,814 2,592 1,620
134200 | = I 3 500
AF¥L O 500 0 500 10 - - - 1,480
134300 |#fiF 3 2,565
i LU 120 0 120 2 1,296
me 600 142 458 2 1,404 1,026 1,404 864
S0 1,455 273 1,182 0.3 124 119 130 119
il 390 62 329 4 1,728 1,836 1,458
134400 [~ % 9,547
£EE 2,397 0 2,397 4 1,620 1,026
RER 7,087 1,188 5,899 [] 1,728 1, 188 1,620 648
134500 |[E—< > i 4,371
(S5 702 216 486 0.15 65 86 49
= I 3,669 930 2,739 0.13 15 49 76 49
135100 [LNAUIT A g 200
=il 40 0 40 2 4,320 3,240
BR 80 0 80 ] - - - 3,240 1,620
135200 |Bi = 3 172
50 20 2 18 2 8,100 8,100
T 152 26 126 2 5. 400 1,728 7,020 1,620
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AH Y5 Xt Hfike | 2EE) | pEEA) [ REA) [ SEE) | $EFE) | REFA)
136100 |[MAL & A 11,570
FIE 100 0 100 5 1,296
me 250 0 250 5 2,700
N 3,220 0 3,220 5 - - - 1,944 648
136200 [E = 3 2,000
& 2,000 0 2,000 10 - - - 1,480
136600 |f-F 1= 3 100
dtiEE 100 0 100 10 - - - 1,728
138100 [ZELLM=1T w 9,892
£E 265 25 240 0.1 216 130 184 97
me 8,448 216 8,232 0.2 361 335 378 130
138500 |[LOHLE ¥ 7,124
Pt 7,107 892 6,215 0.2 99 80 97 81
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AH BY5E HExt Hfike | 2EAE) | pEEA) [ REA) [ SEE) [ $EFE) | RiEFA)
240400 | BB M A A A 3 7,885
Faxl 7,885 2,960 4,925 10 1,728 864 2,160 540
240700 | Z &R M A DA a3 27,679
Faxl 27,633 5,194 22,399 10 Z 160 864 3,564 540
iR 46 20 26 10 2,700
241470 [EADA g 275
=G 275 271 4 q 2. 160 1, 620
242320 |Pa+d—ILK g 7,701
= 7,701 4,481 3,220 10 3. 780 1,728 3,024 1,728
242830 | S\CYA T g 19,693
= 16,583 7,883 8,700 10 2. 160 1, 404 3,672 2,160
242850 | EMYAC g 6,691
HF 6,691 2,421 4,270 10 3. 024 2. 484 3,240 1,404
243610 |EAME g 900
& 900 510 390 5 2.700 2. 160 2,700 2,160
246000 |[L\H % 6,063
=il 287 64 223 0.3 756 594 702 540
& 1,164 463 701 027 1,080 432 1,080 292
k8B 494 278 216 0.24 540 454 486 324
G 1,095 376 719] 027 594 410 594 410
3 2,254 1,236 1018 0.25 540 378 518 378
= % 229 112 117 027 518 454 486 432
247100 [7—IL A AOY a3 425
E4 i 391 102 289 8.5 10, 800 7. 344 14,040 5,400
=il 34 9 26] 85 8,640 8,100
257100 |[[ZL#H g 339
= 339 97 242 1.2 2. 700 1,728 2,700 1,620
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4 . E7EH (kg o wY5E RIS
o 4 — — (i 3=X VA - — — y — =

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
101 [RAR-» 256 58 198 Kg |EE 1,404 648[ )ik 3,240 54
102 |FepHizu 3,385 3,385 Kg g 1,512 324
111 |&FEITED 698 78 620 Kg |=h2 18 =R 1,080 180
113 [ RAROVLD 15 8 7 Kg |fE 3,240 1,404 | F= ) 3,024 2,484
114 |F&FE-H 189 189 Kg [ 2,376 540
115 [z 9 7 2 Kg |E 1,620 1,188 )& 864
121 |[»bixxE 228 162 66 Kg |RE 864 108] /=5 2,484 540
134 [7=Z 250 238 12 Kg |&=8-5) 1,836 N EN 1,728 864
137 |FwHAS 2,642 495 2,147 Kg [SHL 3,564 864 [ i 3,780 2,160
138 |FR7pFEZ 168 30 138 Kg |fE 1,944 =i 4,050 2,160
140 [5iZ 12 12 Kg deviEiE 41,040 22,500
147 =z 255 34 221 Kg |5 6,480 4,320 | E 5 - 7hE 7,020 3,500
158  |ZIhA LD 662 96 566 Kg [FERE 756 378|711 1,458 540
201 |WpL 12 12 Kg = 135
203 [T 14 14 Kg T 243 189
205 [#HL 3 3 Kg Lo 432
206 |0 566 566 Kg T 756 216
208 |[»oB 41 41 Kg =t 432
210 [iFA VD 44 44 Kg [|EI%G 6,210 4,050
212 |FwHE5D 5,899 5,899 Kg BN IRy 1,566 700
251  |[KAESA 1,144 1,144 Kg B 5,994 2,338
252 |WALEESA 160 135 25 Kg  |#% 2,862 2,711|F )7 783
254 [xbIEESAH 2,407 2,407 Kg ERI - 1 7 2,732 500
RE D 51 51 Kg L 1,044 858
305 [FRnok 92 92 Keg |&fE 864 324
306 [WEXv 15 15 Kg [EF 216
319 [&bs 628 262 366 Kg [fEkL 1,080 270 %@ it « Fuagk L 1,620 270
332 |1 @A BPE 507 507 Kg E|RES 1,188 864
351 |%EE 59 29 30 Kg |REE 7,560 3,456 = 8,100 4,104
354 [1TEY 353 353 Kg T3 1,944 621
355 [HD 165 5 160] Kg [#EX 864 A« 550 1,188 500
356 |LUA 200 200 Kg F5EL 864 540
357 |JRHE 55 1 54 Kg |fE&E 756 [ 1,728 900
358 | KHE 20 20 Kg S 1,944 1,620
362 |7 362 2 360 Keg [|&E 1,404 T 3,024 130
402 [H7eX 10 10 Kg A 4,428
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AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
507 |2—/tus 30 30 Kg Fi 7 702 594
512 [ 49 49 Kg B|RES 994 850
523 |#usE A 2 Y 516 516 Kg )7 3,060 810
524 |mETeEZ 35 35 Kg 3D 1,470 918
554 |XIE EA AR 20 20/ Kg AL 800
558 |IRfA 20 20 Kg JbrE 756 702
560 |HRT-Z 5 5]  Kg 7 1,000
566  [@HEEHNT 1,147 1,147 Kg JbrE 10,044 540
576 [T 125 125 Kg E[RES 650
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mr REeHE: 22 W (it BB 5 )
— B R - R U]

il % AR | w0 | AR e Lol we | oo i [ [ae
01_[G0HA 171 1,100 T R 1,700 507 %g 7
705|720 4 1 Ke S 900
T10_DB0oa T b o| Re T 748
755 |mbHl 8 8] Ke S 936
756 [P 1 . 35 7,425 5,551
63 [ToAniC 32 32 Ke % ’ %% 1,900 1,800
68 |57C 10 10| Ke T 3,160 702
801 [HALSIT 388 388 Kg JtiEE 918
802 RS0 30 30| Ke T 571 567
805 [EST 18 18] Re E[RES 5,856 2,016
807 BB T 247 247 Ke T 3,000 1,296
810Dk T 226 226]  Ke e 1,004
85| Wiz 23 23] Ke




